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Time Allowed : 2 Hours]

Paper II

TOURISM ADMINISTRATION AND MANAGEMENT

[Maximum Marks : 200

Note :— This question paper consists of one hundred (100) multiple choice

questions. Each question carries two (2) marks. Attempt all questions.

1. In connection with year of establishment, match the following organisations :
Organisations Year of Establishment/Setup
(@ ITDC, Indian Tourism 1 2016

)

(c)

(d)

~ Select the correct answer from the codes given below :

Development Corporation

NCHMCT, National Council (2)
of Hotel Management & Catering

Technology

AIH & TM (formerly MPDC) 3)
Ashok Institute of Hospitality |

& Tourism Management

ICI-Tirupati, Indian Culinary (4)

Institute-Tirupati

Code :

@ B © @@

a @ @ @O @
@) 2 & 1 @
© @2 & @ @
M 3 @ @ @
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T 2 W) [quiis : 200
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L o oad & wew # 9 Ru g Ee W gitem sk
UGS TATAT/IME A 1 a™
(@) ITDC, e ofen Fdeude (1) 2016
HIdReE
(b) NCHMCT, ¥l #1shae 3 @ 1966
e FASE=E WS S TS
(¢) AIH & TM (g@ias MPDC) | 3) 1982
@) ICIfreaf, Ffeem Hfor Tiege @ 1971
faeufa
9 for oA ¥ W@ W 91
T

@ & © @
A 3 @ QO @
B) @ & 1 @
© @ & @ @
D B @ @ @
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2 Following are the country codes allocated by the IATA. Which of the

following countries code is not correct ?

Countries Codes
(A) Algeria ' DZ
(B) Crotia HR
(C) Liberia LR
(D) Maldives MS
3. From the following point out which one of the forts cum palaces is made of
bricks ?
(A) Gwalior fort (B) Junagarh fort, Bikaner
(C) Ranthambhore fort (D) Mehrangarh fort, Jodhpur
4. Match List I with List II : |
List I List II
(Personalities/events) (Year/achievement)
(@) Subhash Chandra Bose (1) March-April, 1930

(b) Sardar Vallabhbhai Patel (2) 13th April, 1919
(¢) Jallianawala Bagh Massacre (3) Azad Hind Fauj

(d) Dandi March (4) Integration of Princely States
with India

Select the correct answer from the codes given below :
Codes :
@ ®) © @
a @ @ QO @
B) 3 @ @) (@
© @2 O @G @
M 1 2 @D B

T.B.C. : 18/18/SET—II 4



2. WEUAT g aEfm w9 W fretaen E o @ S 59 B o
%2

quT ' #E
(A) ST DZ
(B) wifymn HR
(C) fersfan : LR
(D) HTEI MS
3. frfafed 4 @ s ffen wea sha S w s gen ® 2
(A) TRER F1 e (B) [g fhen, dERR
(C) TR H1 faem (D) #ETTTg forem, Seg
4. g 1w gE 11§ gafea FifE
| et 1 gt 11
(crferea T (e
(@ 9™ FF I 1) wE-3a, 1930
(b) TER TAYTE A 2 13 37, 1919
(c) ferataren s TEER @) IR fe w
@ (4) X fomd 1 ww@ § frem
3 fw T A ¥ 9@ IR T |
T

@ @ @ @
A @ @ @ @
B) @ @ @ @
€ @ @O @G @
D 1) 2 @ 3
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5. From the following select the correct year in which the Planning Commission

of India constituted the National Committee on Tourism in order to formulate
plans for tourism industry ?

(A) 1950 ’ (B) 1970
(C) 1986 (D) 1983

6. Given below are two statements, one labelled as Assertion (A) and the other
as Reason (R) :

Assertion (A) : Low-cost carriers are growing, threatening the major
carriers and making legacy carrier profitability a more difficult task.

Reason (R) : Brand names like Southwest, Jet Blue, Air Tran, West Jet,
and Easy Jet are not growing and not gaining ground against their larger
competitors.

In the context of the above two statements which of the following is correct ?
Select the correct answer from the codes given below :

Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

7 Which of the following pair/pairs is/are correctly matched ?

(1) Dzukou Valley - Manipur-Nagaland Border
(2) Tam Dil Lake e Mizoram

(3) Rumtek Monastery o Sikkim

(4) Mawsmai Cave — Meghalaya

Select the correct answer from the codes given below :
Codes :

(A) (1) and (3) only

(B) (2), (3) and (4) only

(C) (1), (2), (3), (4)

(D) (3) and (4) only

[.B.C. : 18/18/SET—II 6



5. frafafes 4 @ 39 a6 &1 =99 Fif90 59 YR g s (@t FvE e
=) 7 e & fau e wfafa w1 R faw afs wdew w=im 3 faw 9
T TEH :

(A) 1950 ' (B) 1970
(C) 1986 | (D) 1983
6. TRAFHRU ™ E 7 & sfmwem Q) T g & R) ¥ -

AfwTT (A) : T fa9m a1 51 @ w9 @ 2, R a9 TR i '@
Tegd W T A e Fw wmm e fa w1 wea gt gfied @
™ ¥

@& (R) : 9REYaR, R =9, TR M, 9= ¥ IR 3 S N Ffe wm o=
T o W R E IR AT a1 wfagel weR wwfE @ favg 8 W W ® #

IPF S FuA & Ged A fre # ¥ A W@ R 2 wd I oA v A U
T FE | R
&He
(A) 3 (A) 3R (R) & ¥, 3R (R) (A) F1 & =aren B
(B) @i (A) 3R (R) #& %, f&g (R) (A) ®1 W = 7@
(©) (A ¥& % f&q (R) Tom %
(D) (A) 7o &, f&g (R) W& ¥
7. = fou o g § ¥ $FR gw owd gt § 0

(1) TH S — HfoTqR-AMRTE |fet
(2) T o &= - ey

(3) FHF WA = fafsm

(4) wETE F4 — AT
ﬁﬁnmiﬁﬁﬁvﬁmgﬁﬁ:

&He

(A) HFd (1) 3R (3)

(B) #®ad (2), (3) 3R (4)
(C) (1), (2), (3), (4)
(D) HFd (3) 3R (4)
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8. Match List I with List II and select the correct answer using the codes given
below the lists :

List I , List II
(@) Taj Mahal (1) Coral reef
(b) Red Fort (2)  Sedimentary rock
(¢) Andaman Island (3) Metamorphic rock
(d) Golconda Fort (4) Mud and Igneous rock
Codes :

@ ® © @
@a @ O @ @
B @ @ @O @
© @ ® O @
O © @ O @
9, Which oné of the following terms’ explanation and definition is correct ?

(A) Cruise ships — Transport of goods on round trips, in which the
trip itself and the amenities of the ship and ports visited are an

attraction.

(B) Ferry — A ferry is defined as form of long-distance water-borne

transport.

(C) Liner — A large ocean sailing vessel or aircraft used to transport
passengers belonging to a regular line and observing maritime

regulation.

(D) Port of entry — The public port for entry of passengers only.

[.B.C. : 18/18/SET—II 8



8. I T I} gafem ifv ik gfedi 3 AR few moaE § @ Wl oW

T

et 1

(@) dSHEA

(b) @& foen

(¢) 39N ZW

@) TERe 1 fEen

HT
(a)
(A) (2)
(B) (2)
(C) 4)

D) @)

(b)
(1)

(4)

3)

(2)

(c)
(4)
(1)
(1)
(1)

(d)
(3)
3)
(2)

(4)

(1)
(2)
(3)
(4)

o 1
FA TF (Coral reef)

¥EA=T UF (Sedimentary rock)
Remifha® ¥F (Metamorphic rock)
7g e 339 WF (Mud and

igneous rock)

9. TR fA M v=mfedl ¥ A fFm v=mEet w1 amEn sk uRaw @@ ¥ 2

A) o - ofeww o @ e B A T ', el @ oy s
o # w9 gfaund @ o fR T a=omE @ s e ¥

(B) Wt — & F wfiwfon #w@ gu a@ ™ ¥ fF @@ ot 0 forw ge

i 9o 9 ufEed # & TER

(C) W — Tg5 & ¥oM a1 UF 9 ToW HvEl goE oo A Frafi
% 0 ® A T AR e s weR #wa R

(D) WE A® TZ — TF FEATH a<NE Tl DA A B OGE A B
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10. The following are given the terms. Which of the following terms carry the

correct explanation ?

(1) Apex fares — Advanced purchase excursion fare, purchased in

advance, non-refundable, conditions apply.

(2) Budget airlines — No-frills airline, i.e. minimum services offered on

board, hence cheaper air-fares.

(3) Cable cars — Mode of transport - attractions with hilly terrains, ski

resorts which travel along overhead cables.

(4) Cruises — Sea voyages in luxurious liners not popular amongst the

rich and elite.
Select the correct answer from the codes given below :
Codes :
(A) (1) and t2) only
(B) (2) and (3) only
(C) (1), (2) and (3) only
D) (1), (2), (3), 4)
11.  Which one of the‘ following is the characteristic of tourist visa ?

(A) Usually valid for three days or less, for passing through the country

to a third destination.
(B) For a limited period for leisure travel, no business activities allowed.
(C) Sometimes it is called an official visa.

(D) Granted to those intending to migrate to the issuing country.

T.B.C. : 18/18/SET—II 10



10. = v=EtmEl & . ) e d 8 s v=Ee # A 998 ¥ o

(1) ude| B — trit # yoo e wiem @ fa ede, Tert #§ 'l
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(2) T TIATH — Afafaa giaurd T & ol TRegd S9fq 9 & QN
FH Y FH §99 ¢, o: UK TOR R |

(3) HAA FR — I H & THER-TEEI-gH I I ewevl, @t {@ed i
IR A A F WY A FA

(4) wF — U oMW ¥ gulea wEe F Wy A S e a9 g«
¥ depfhg TE ¢

99 Ru T Hz ¥ G IW F IIF FI6Y :
T
(A) Fad (1) 3R (2)
(B) @aw (2) 3 (3)
(© P (1), @ R (3)
O (1), @), 3), @
11 A A T et § A A g A e 2

(A) T¥: TF 20 ¥ BN W W THF WA | TG & [, 9= H ¥ A
@ 29 F e dF T W 98 w9 T % fau o= fa w

(B) WEW A (AR o) H AR afafedi @t oAl Tl al |
) Ff-wft a7 dw=fw o (Afelma siwn) seam §
(D) I8 3% & T S et SR wE o 2w # SR 99 R 9
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12.

13.

14.

15.

The Indian Railways has introduced Indrail Pass for foreign tourists. The
Indrail Pass allows unlimited travel during the validity of this pass. Travel
agents are given commission on the sale of Indrail passes. From the following

point out how much commission is given to the travel agents ?
(A) 2 Percent (B) 5 Percent

(C) 8 Percent D) 10 Percent

Find the correct meaning of spatial diffusion :

(A) Spatial diffusion is simple process whereby some innovation or idea

spreads from a point of origin to other locations.

(B) Spatial diffusion is the process of innovating new things to spread

across the destination.

(C) Spatial diffusion is the method of diffusing ideas from a smaller location

to a larger location.

(D) Spatial diffusion is the innovative idea of introducing communication

system in a particular tourist destination.
In which 'ux.lion territory/state, is ‘White Town’ situated ?
(A) Goa (B) Puciucherry
(C) Daman and Diu (D) Dadra and Nagar Haveli

A particular kind of document, similar to modern passport, used to be issued

to the foreign traders visiting India in medieval period. The document was

known as :
(A) Farman (B) Fatwa
(C) Nishan (D) Dastak

"B.C. : 18/18/SET—II 12



12.

13.

14.

15.

WAt Yo 7 Rt wewl & fau gete ww w gaw wt e & ¥ et
- Y] 1 39 T HI A @ qF AT et Ht a8t §1 S T
F Feld U9 & fasml W YA faea 1 TR Ru mw siEel @ saed v daw
W= F e HHvE fm s § 2

(A) 2 yfavra (B) 5 yfavm
(C) 8 wfdvm (D) 10 wfewr
e Hed (Spatial diffusion) &1 Wel 31 @1 § ?

(A) e hoE T T WY giE § S @ 1 e stgen faer e
T H ¥ TR WM W her ¥ |

(B) wif S T S W @ w # w v @ o T e
q I dadt T

(C) T o fourl & 32 WH ¥ 98 WA § ham & & d0F gl

(D) e S SR T # O e e § e S W AR
4

frg &% wiga We/T & ‘= o’ fem § 2

(A) s - (B) T |

(C) TRy (D) TEW SR TREH

eI IR § foacelt =mdt st wra &t am #39 9 5% ey e & ee
T favy YR &1 @S SR R S 91 98 e F9 Feddl A ?

(A) ®EHH (B) Wdan

(C) frm (D) TS
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16.  Match List I with List IT and select the correct answer using the codes given

below the lists :
List I
(Authorle;:litors)
(@) Peter Frankopan

(b) K. T. Achaya

(¢) Andreas Walmsley
(d) Philip Berners

Codes :
@ ) © @@
A QO & @ @

B) 1) @ @ @ -

© 2 O @ @
D @ €2 @O @

(1)
(2)

(3)
4)

List II
(Books)
The Silk Roads

A Historical Dictibnary of Indian
Food

Entrepreneurship in Tourism

The Practical Guide to Organizing
Events

17.  Leiper’s basic whole tourism system places tourism within a framework that

minimally requires five interdependent core elements.

Find the correct combination of these five elements :

(A) at least one tourist, one tourist generating region, one transit route

region, one tourist destination, one human element.

(B) at least one tourist destination region, one socio-cultural element, one

tourist, one transit route region, one tourist generating region.

(C) at least one tourist, one tourist generating region, one transit route

region, one tourist destination, a travel and tourism industry.

(D) at least one tourist, one tourist generating region, location of tourists,

the travel and tourism industry, one transit route region.

T.B.C. : 18/18/SET—II
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16. FEHIH g I @ ghfaa Fifw ok w8 R Ry o wd sw 9

et I | et 1T
(FEwH/AuEH) (TH)
(@) WX PO () R oo e
®) @ & s=E @) . T ferie feaerrlt ot sfrea we
(c) 3ilftgan amsiet 3) TERAT W

@) frfae s3d 4) ﬂﬁmmgmﬁnﬁzﬂ
. | .
@ ® © @
@a @ @ @ @
® O @ G @
© @ O @ @
D@ @ @ O

17. @R T v yomeh wen w1 ww U@ 39 # et ¥ i 9 @ w9 o
g fsk v@ ac #t mavEear et R

W W T @ W@ g 9 T

(A) FT Y FU TH T, T Tew GOF A, T TORE A6 4, w whew
=4, T HHaad ac

(B) ®H ¥ W & Y4eH TAA 8, Tk AHIGH-Gipids qd, W e, &
U AT &, TH TheE g o

€) 9 A ¥ & WeF, W Wed guF 47, T UOTH o 49, T Tiew
TR, Uh g 3R gded s

(D) ®9 ¥ FH & Tewh, T Tewd Yo &, ekl F1 W, T 3R g
T, TH A AE 8w
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18. From the following point out two advantages of the Quantitative Research

Methodology :

(1) Since the sample sizes are large they represent the population, hence

judgements can be made easily and confidently.
(2) Poorly framed questions may cause bias and misinterpretation.
(3) Data can be easily summarized and analysed using computers.

(4) It involves a lot of time and effort as large samples are, required to be

gathered.
Select the correct answer from the codes given below :
Code :
(A) (1) and (2) only
(B) (1) aﬁd (3) only
(C) (1), (2) and (3) only
(D) (1), (3) and (4) only
19. F. W. Taylor is known as father of .................... ;
(A) Human relations approach to management
(B) Quantitative approach to management
(C) General and industrial management

(D) Scientific management approach

T.B.C. : 18/18/SET—II 16



18, frefafed 4 @ sasd o aeners saym fearfafy (Faifea fad Regmtst)
& 3 FER HE § 7

(1) ﬁhmmﬁ'a@m%m%wmmﬁmﬁm%; 37
Fo Tt o o aeafave™ F fel W1 g ¥

(2) B ®Y § @R fFU T Haw ¥ @e o awg od fea wwd €

3) TR ® WM Y T W e A w1 ww § e swe fadm
e s T B

(4) HfF 92 T THFT FE FT AGvIRAl B § o7 T H GEG 3R Aea
Rl d

e e T owe § § W oSW g
(A) @aa(l)aﬂi(z)
(B) =Haa (1) 3R (3)
(C) Had (1), (2) 3 (3)
(D) ®aa (1), (3) 3R (4)
19. TF g ok fhueh S9& 79 0 § 7
(A) AHE g= F geET % fo gfesm
(B) Yo & fau wmmems gftesm
(C) dm= 3R sfeifd yawye
(D) St YA g

T.B.C. : 18/18/SET—II 17 P.T.O.



20.

21.

Read the passage below and answer the questions that follow based on

understanding of the passage. Answer the questions (20-25) :
Silk Route

As the heart of the world takes shape, institutions and organizations that
formalise relations across this pivotal region are also coming into being.
Originally set up to facilitate political, economic and military collaboration
between Russia, Kazakhstan, Kyrgyzstan, Tajikistan, Uzbekistan and China,
the SCO is becoming increasingly influential and gradually turning into a
viable alternative to the European Union. Although some decry the
association as ‘a vehicle for human rights violations’, highlighting the failure
of member states to respect the UN convention on torture and their flagrant
lack of protection for minorities, others see it as the future, with countries
like Belarus and Sri Lanka granted formal permission to attend meetings
as observers. That is not enough for Turkey, which has clamoured to join
as a full member - and to reorient away from Europe. The country would
turn its back on its protracted and frustrating application to join the
European Union, the Turkish Prime Minister announced in a television
interview in 2013, and look to the east; the SCO, he stated, is ‘better and

more powerful and we have values in common’.

Who said that SCO is ‘better and more powerful and we have values in

common 7

(A) Prime Minister of India (B) Prime Minister of Turkey

(C) Prime Minister of Sri Lanka (D) Prime Minister of Belarus
Point out the country who saw SCO as an alternative to European Union ?
(A) Turkey (B) Sri Lanka

(C) Belarus (D) Uzbekistan

T.B.C. : 18/18/SET—II 18



9 feu T T # dfeu 3R 3@ AW @ AR H ST WHE F YR W W W
aufE e # IS0 Y EEn 20-25 % IW I

e wmd

$3-30 FEn B T A 3, 424 gt v de @ e fag @ o g
F yafes w9 3@ £, 97 off sfwea # o ot €1 dfes ®9 8 F9, FoeEH,
fepfitsrar, auifeem, IafE@r it 9F & 7 Tofes, afds qo &9 geam
3 fou woifod 1 T TR, G & T9g ® @y Afus gwEwet dd s uR-
it Tfer 3feA # F W U AGEE fawe a9 @ g1 Faf € am
79 e F HE AR @ T F Ok W FE H e A §,
e T # AR B faEg 3. UA. FEVE B A WA a9 A Te SeTHedh
F e B AE § AR @A [ B A A GH5 A AN FA
| Fafs @ T2 TWE g0 AdEy iR sieE F 9 A FieE $ w98 ar
s § am 3 F shvafE o 23 W W vfaw @ fawe # w9 A @
$l e g @ fom w2 S vl wem @ ww T wfee @ e ®
afF i @ g A fem # W @R 7w 2w qife gfe d e 3 @
fou o Tog @ U M AT oREE A O @ fage @ S g@ & weE w
3 9013 # feu MU FeAifawH & WarER § TEal "o & R R Fw oA fF @
F i e ‘afuw s siR vfEee § sl TR e gem e R

90, frm a1 o1 5w . 3. “afuw sem ol afus wfwemet 8 3R T SfEd
T g9A 87

(A) YRd & JUH T (B) TH & IR HA
(C) #ieis & gu= =3l (D) STEd & FH A
91, @% @r 29 & f wm. d. . % gife gfee & foFen & w9 8 2@ ?
(A) T (B) it
(C) aA=H (D) IFafFEA
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29

23.

24.

25.

26.

What is the full form of S.C.O. ?

(A) Shanghai Co-Operative Organization
(B) Shanghai Co-Operation Organization
(C) Sri Lanka-China Organization

(D) Shanghai Commercial Organization

Against which of the following organizations, SCO is an alternative
organization ?

(A) European Economic Organization

(B) BRICS

(C) SAARC

(D) European Union

In which continent is Belarus situated ?

(A) Asia (B) Africa

(C) Europe (D) South America
What was the original aim of the SCO ?

" (A) to establish economic rollaboration between China, Russia and South

. Africa.

(B) to form military collaboration between China, Russia and Brazil.

(©) to form a Union of China and Russia against U.S.A’s Nuclear Test

Programmes.

(D) to establish economic, political and military understanding and
collaboration between China, Russia, Kazakhstan, Kyrgyzstan,
Tajikistan and Uzbekistan.

Which one of the following is not an element of Leiper (1979) model of
tourism ?

(A) Traveler generating region (B) Transit region
(C) Visitor (D) Tourism industry

TBC. : 18/18/SET—IT 20



22.

23.

24.

25.

26.

T oo w o s oy 2
&) v F-aRfen TR
(B) mm—aﬁmmm
(C) . sieiemr-=mgm TS

(D) v FWfyfae fESYE

s 4 @ . @, o fou Gon w RweE ¥ 2
(A) FfF zerfE siffresm B) foa (BRICS) |

- (C) WH (SAARC) O) T g
Jorew fra we # fem ¥ 2 B
(A)  ufemn | (B) ST

(©) I (D) 43y Imf

. @ a0 w A R @ 2 o

(A) iﬁ'ﬁ,maﬂzmméaﬁaaﬂf%m.wﬁa-m

B) M, ¥ IR weie F A wedm wfw v |

(©) ZL.@.Q.%mwﬁmm%fa@ahaﬂtmm@mm

(D), e, P, TR SR SRR @ e s, T

Frtefem % 2 Tt $ A (1979) Hew W T W b 2
(A) Fnft 3R A ~ (B) TR &
(C) i (D)ﬁas’d_m‘
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27

28.

29.

30.

The minimum seats required to be classified as a Stand Alone Restaurant
15 Indin 1818 cmomevecvmsemocins :

(A) 20 ' (B) 30

(C) 40 . D) 50

Which of the following factors facilitates growth of tourism ?
(1) Technology

(2) Disposable income

(3) Current profile

(4) Demographic Factors

“Select the correct answer using the codes éiven below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) | (1), (3) and (4) only
D) (1), (2), (3) and (4)

Which one of the following is the approving/classifying body for Time Share
Resorts ?

(A) HRACC (B) FHRAI
(C) HAI (D) ITDC

Arrange the following organizations in order of their year of establishment.
Use the codes given below.

(1) Ministry of Tourism, India.
(2) Airport Authority of India.
(3) Ministry of Railways, India.
(4) Ministry of Civil Aviation, India.
Codes :
@ &) @© @
a @ @ @ @
@) B @1 @ @
€ @ 1 @ @
M @ @ 1) @
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27.

28.

29.

30.

R DT o IR & w0 § e 89 % fau sevasw =gAan g o
g

(A) 20 (B) 30

(C) 40 ' D) 50

frefefen § ¥ s FrF et & fawm # gousEs T e ?
(1) vrenfrt

) feosEa 9™

(3) TAHH WERA

(4) SEEfeTRE HH |
2 2 oA oW A SW w w9 R

aj\a‘ .

(A) ®ad (1) 3R (2)

(B) #ad (2) 3R (3)

() Had (1), (3) 3R ()

D) (1), (2), (3) 3 (4)

frafefaa § 4 # ogn I foald & forg spe/arfid fem & 2
(A) THATHE (B) THUHITSME

(C) T D) oA

2 few o w2 F 3w F@ g Fefafen @A w1 ST WO T8 F STIER
afegd Hifay |

(1) 943 H3ed, 9Rd
(2) WG H TR ST W
(3) & TAWHE, Wd
(4) AN IgSAT HAGE, HIA
He : |
(@ & (@ @
A 3 @ @) Q)
B) 3) 1) (2) @)
© B3 1 @ 2
M 3 @ Q) @
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31.

32.

33.

34.

35.

Archeological Survey of India (ASI) categorizes the nation into 5 Regional
Directorates and further into how many circles ?

(A) 12 , , (B) 29

(C) 24 D) 06

The first known network of hotel and inns is attributed to :
(A) The Romans (B) The French

(C) The English (D) The Dutch

Arrange the stages of Butler’s Tourism area life cycle model in sequence.
(1) Rapid growth |

(2) Stagnation

(3) Exploration

(4) Development

(5) Rejuvenation

Select the qd}'rect answer using the codes given below :
Codes :

A @ O @ @ 6

B @ @ Q) & (2

€ @ @ QO @ 6

O 3 1 @ @ 6

Indian Forest Act came into being in ................ :

(A) 1980 (B) 1972

(C) 1975 D) 1976

According to UNWTO 2018 report, International tourist arrival grew ............. %
in 2017 globally.

(A) 7.0 (B) 38

(C) 10 D) 4.5

TB.C. : 18/18/SET—II 924



31.

32.

33.

34.

35.

YR e Faa (qEEeTE) ¥ 3w & it Ui fiwmer § ok o fea feed
# aiffea fwan ¥ 2

(A) 12 3 (B) 29

(C) 24 (D) 06
M#ﬂmﬁmaﬁﬁaﬁWQam%:

(A) A (B) wd

(C) 3 : D) ==

goeR died T % & Sled-ds % WU I HH A Hafed it
1) T ¥ fEm L

(2) T

(3) 3T=HU

(4) fowm

(5) THIEITHRY
ﬁﬁﬁ@’:@muﬁnm,uﬂwwwﬁm:
He ¢ |

@Wwe n e @ 6
B @ @ O 6 @
© @ @ o @ 6
™ @ O @ @ 6

S S & sfam & e
(A) 1980 (B) 1972

(C) 1975 D) 1976

UNWTO 2018 =&t i & qER, fovd TR W 2017 § iaUsid wdesh AmmA
................. % s ¥

(A) 170 (B) 3.8

(©) 10 D) 45
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36.  Which group of countries among the following are IJATA TC 2 countries
only ? '

~ (A) Gibraltar, Belarus, Norway (B) Philippines, Japan, Fiji
(C) Canada, Cuba, Brazil (D) Venezuela, Mexico, Australia

37.  As per Common National Standards and Guidelines (2018), the classification
for Incredible India Homestay Establishment will be given only in those cases
where the owner/promoter of the establishment along with his/her family is
physically residing in the same establishment and letting out minimum
............... room and maximum ..................... FOOMS.

Select the correct answer from below :
(A) One and Six (B) One and Three
(C) Two and Six (D) Two and Three

38. Match items in List I (Dance) with those of List II (State) and choose the
correct answer using the codes given below :

List I List 11
(D_anée) : (State)
(@) Kathak (1)  Uttar Pradesh
(b) Sattriya (2) Assam
(¢) Mohiniyattam (3) Kerala
(d) Kuchipudi (4) Andhra Pradesh
Codes :

@ ) @ @
A 2 @ @ @
B) @ B @ (@O
©c @O @ 2 @
@ @ @ @& @
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36. freAfafed # § #9 AW IATATC 2% TR W H T
(A) fSemeer, aareq, Fd (B) fweidiq, s, fpsi
(C) TSI, FAI, A (D) opuen, Hfagen, siefaa

37. TN TSE T AR fewnfR (2018) # TR, T WRA BN T %
fou it Baret 31 AWel § fean S, W 39 URaR & WY Hfis @ Hifcrn/FH

i e S B 5 e B Bl FI R s
.................. FR 2@ E

= ¥ |é IW H 9 HINT

W T (B) T 3

(€) q IR = D 5 S

38. qa?l(aa)%ma@n(m)%mqumﬁmaﬂtﬁﬁqﬂq
FI H I TS W IW G

get I gt 11
@ ()
(@) FUF - 1) IR
(b) A @ o
() fefeen (3) @@
(d) et (4) 3Ty W
- |

@ ®) (@ (@
@a 2 3 @ @
@ @ 3 @ @
©€ 1 @ @ @
O 1) 2 @ @
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39.  Match items in List I (Climatic Region) with those of List II (Area) and

choose the correct answer using the codes given below :

 List 1 List T
~(Climatic Region) (Area)
(@) Tropical Equatorial (1) Spain
(b)) Dry Climatic - ' (2) Northern Australia
(¢) Mediterranean Climate "~ (3) Indian Ocean
(d) .Tropic Wet-dry (4) Egypt

Codes :
@ ® © @

(A) (45 (2) (1)_ 3)

BB @ @ 4)

© @ @ O @

D) 3) @4 @O (2
40.  Which of the following is not an Indian Bréad '7

(A) Sheermal’ (B) Bakarkhani

(C) Luchi (D) Yakhni
41. Where is “The Prado” museum situated ?

(A) Paris 1 (B) Amsterdam

(C) Madrid | (D) London
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mwmmmwﬁmﬂﬁﬂ
w1 gEn
(o ) @
@ e I - DR
® T ey T @ ma@m
@ s v ® TR wER
@) o - - @ fw

je |
@ ® © @

@@ o O @

® O 3 @ @

© @ @ QO @

D w0 e

- 40.
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(A) N (B W
R : o T
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42.

43.

Match items in List I (Folk Dance) with those of List II (State) and choose
the correct answer using the codes given below :

List 1 List II
(Folk Dance) (State)
() Tamasha (1) Maharasthra
(b) Nautanki (2) Uttar Pradesh
(¢) Rauf (3)  Rajasthan
(d) Khayal (4) Jammu and Kashmir
Codes :

@ B © ()
A 1) 2 B3 @)
B) 2) 1) @ Q)
) 1 2 @ @)
D@ 1 @ @
The Archaeological Survey of India comes under the Ministry 1) ST .
(A) Tourism (B) Home Affairs
(C) Culture (D) Environment

Given below are two statements; one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Events are central to our culture and increased attendance
is linked to an increase in available leisure time and discretionary spending.

Reason (R) : Events are seen as key element of many strategic development
plans and are an integral part of the tourism.

In the context of above two statements choose the correct answer using the
codes given below :

Codes :

(A) Both (A) and (R) are correct but (R) is the not correct explanation of (A)
(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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42.

43.

44,

T.B.C.

gl 1 () & g gt 11 (T9) H e1mgen & fiem i iR A fie e
IW : |

HZ F ST Feh Tl g3
L Cil | et 11
(STeTe) ; =)
(@) <HEm (1) HeRg
(b) Freat @) TW W
© W&® 3) UeRYH
(d) @I (4) W9 T HTR
H_E
(@ @) © @
A 1 @ B @
B) @ 1 @ @
© O @ @ @
™ @ @O @ @
Tt T wE f e & ke e 5
(A) TEH (B) T&
© w=fa - (D) TateR -

T @ FwA MU E; @ﬁﬁwmm)ﬁr{@iaﬁwm)émﬁm
fopam T ¥

FRTFIT (A) : T TR TEhfG & fou S5 €l 9f g Sufwufa, Swesy
sl 999 IR fageni wd # 9y ¥ 9= 7

HAU (R) : T F FE ORfE e demel @ wE a@ $ w9 @
S % SR 9 e w1 T S s B

Wﬁ%ﬁ%mﬁﬁﬁmmmmmﬂwuﬁwgﬁa
He ¢

(A) (A) 3R (R) S+ @&t & afdT (R) (A) =1 w8 foaxwr & %)

(B) (A) 3 (R) SF @& ¥ 3R (R) (A) & HEl T<EHH F

(©) (A) T& % wfes (R) oW B |

(D) (A) To@ T ol (R) 9@ gl
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45.

46.

47.

Arrange the following Biosphere Reserves in the order in which they were
included in list of Biosphere reserves. Use the codes given below.

(1) Nilgiri »

(2) Panna

(3) Similipal

(4) Pachmarhi

Codes :

A 1 & @ @

B) @ @ @ @

©O® @ @ ©

M @ D 3 @

Himalayan Mountaineering Institute is located in :
(A) Gulmarg (B) Darjeeling
(C) Dehradun (D) Auli

This consists of two lists. List I (Beaches) and List II (States). Which pairs
(Beaches-States) are correctly matched ? Choose the correct answer using the
codes given below :

List I List II
(Beaches) (States)
(1) Digha | West Bengal
(2) Om - Tamil Nadu
(3) Marve Maharashtra
(4) Kovalam Andhra Pradesh
Codes :

(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (2) and (4) are correct
(D) (1) and (3) are correct
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45.

46.

47.

T.B.C. :

frfafea aEeRR 9d it =Feawen 39 %7 | &Y 99 3% TaeheR {d
& gt § e fe mn o f= R T s w1 3w i)
(1) R

(2) 9=

(3) foweaa

4) =

%He

Aa @O G @ @

B @ @ @ @

€ 1 @ @ 3

M @ 1O G @

WWWW%

(A) T (B) wfSifem
(C) <& D) et
3 31 gfer wiee ¥ (‘9‘35 q2) 3R g 11 (Ts9) #h SR (fe-weg)
T e ¥ A9 En § 2 N R g mmwmuﬁmgﬁﬁ
gEr I ] | et 11
(Wqg Q) ~ Us2))
(1) <ren TRy ST
(2) m | qferg
@ W& TR
(4) Froem | Ty W
e |
(A) (1) 3R (2) FE FI
B) (2) 3R (3) W& T
©) (2) 3R (4) ¥& ¥l
(D) (1) ¥R (3) ¥ %I
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48. Which of the following statements are correct ?

(1)
(2)
3)
(4)

India is the first Asian country to offer Heli Sking facilities
Nearest airport to Shivpuri river rafting base camp is Rishikesh
Chamundi Hills are located in Himalayas

Mountaineering sport began in the Himalayas in 1883

Select the correct answer using the codes given below :

Codes :

(A)

(2) and (3) Only

(B) (1) and (2) Only

(C) (1) and (4) Only

(D) All of the above

49. The height of statue of unity is ................. :

(A)
(C)

50. As per Common National Standards and Guidelines (2018), the classification
for Incredible India Homestay Establishment, Classification will be valid for
from the date of expiry of the last classification provided that the application

has been received within the stipulated time i.e. 3 months before the expiry

............

174 mtr (B) 194 mtr

182 mtr (D) 178 mtr

of the previous classification.

(A) One (B) Two

(C) Three (D) Five

T.B.C. : 18/18/SET—II 34
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48.

49.

50.

frafafeg & 9 S99 F99 98 ¢

(1) 9Rd ween TREE w0 & S e wiwn glaud @ w1 gl
2) fragd fer gfen 3w F9 & fou Frerew eai orgel ®fwa @
(3) =mEt feew femem & feud g

(4) 1883 # e # UdaRiEwl # T & §A

T feu T F I FE WE IW g

Re

(A) ®ad (2) 3R (3)

(B) Had (1) 3R (2)

(C) ®ad (1) 3 (4)

(D) I qsft

Qg{m,{ﬁaﬁm ...................... 3

(A) 178 HIK (B) 194 T

(C) 182 H D) 178 Hx

A T W S feenfe (2018) # SRR, ST WRA BER WO %
fT iy, SfiERTo ATRY W FT H Ay o 8 & fog @1 oW

FitET0 1 THIRA 1 GRE | TR & Ao 9= g avd o frse e
F g ¥ 3 WEA Tew gl fAuifd gHE @ i TaeH Wa gam &

(A) T (B)
(C) (D) U=
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51. Consider the followihg routing and select the type of journey.
AMS-NYC-SFO-TPE-MNL-AMS
(A) One-way ., (B) Round Trip
(C) Round the world (D) Open Jaw

52.  Arrange the itinerary sequence of destinations covered by Royal Orient.

(1) Delhi-Chittorgarh (2) Junagarh-Sasangir
(3) Ahmedabad-Jaipur (4) Palitana-Ahmedabad
Codes :

(A) @3 (1) (2) and (4)
(B) D) (2) (3) and (4)
€ 1) @2 @ and @3)
DD @ @ ad @
53. MCO is not issued for which of the following services :
(A) Car Rentais’ (B) Hotel Accommodation
(C) Travel Insurance (D) Sundry Charges
54. The acronym Ro-PAX refers to :
(A) Roll on passenger (B) Roll off passenger

(C) Both (A) and (B) (D) Round off passenger
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o1.

52.

53.

54.

T-B.C.

frefafed o w faar *1 &R am & YR & T4
AMS-NYC-SFO-TPE-MNL-AMS

(A) TH TWH (B) TS feu

(C) g =1 =F (D) 39T S

Mo e g1 el fpy T TasAl & AT HH H FERYT H

1) fe-frder | (@) SATE-HwER
(3) STBHSERE-TIY (4) I 2TEHSTEIS
T

A @ @ @ R @

B O @ @ @« @

© O @ @ R 3

D) @ (4) (3) &R (2

freffion S § @ MCO g 3 forw S @ e w2
(A) HR H mm (B) ®eel 3fEmd

(C) I S - D) fafae 79R

gfa w9 U-To9 &1 I @ ¥ ¢

(A) U 39 fEsR (B) Ua 3w IfEsr
() <F (A) 3R (B) D) T3e e YdR
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55.

56.

o7.

58.

Match items in List I (Train) with those of List II (Country Connected) and
choose the correct answer using the codes given below the list :

(a)
(b)
()

(d)
Co

List I List II
(Trains) (Countries)
ICE | (1) England
Thalys (2)  Germany
TGV (3) Belgium
Gatwick Exp. (4) France

des :

@ B © @

(4)
(B)
©)
D)

@ @1 @ @
L @ @ 3
2 O @ G
2 @ @ @

Greyhouhd Network is in :

(A)
(C)

- North America (B) UK
Europe (D) New Zealand

The first capsule hotel was opened in :

(A)
(C)

Beijing. (B) Osaka
Paris (D) Berlin

A “Chef de Parties” in a hotel :

(A)
(B)
(C)
(D)

T.B.C. :

Take charge in the absence of the section chefs
Responsible for all hot and cold desserts
Are acting head chefs

Are the station heads
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55. gl I () & w9 get 11 (W) § 3men =1 fiam &1 oiR 398 49 Ru o
F2 F IWN Fh WE IW B T FL

el 1 Tt 11

&) , (T
(@) ICE 1) 3w
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56, EEE fEmm e i #)
) il S (B) fom -
(C) Fiw D) s
57. WYYH HWA Fed @ T o
A) s # B Shr B
(C) ufwd oy W

58. U& @ea ® 'vw 2 wE" .
(A) oYM W H euifd # gur &a g
(B) §ift ™ 3R I W & foau fyrn ¥
(C) TRT T 9% T
(D) =y yq@ ¥
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99.

60.

61.

62.

63.

64.

Star cruises sails from which of the following points ?

(A) Mumbai, Goa, Mauritius

(B) - Singapore, Hong Kong, Kaohsiung.

(C) Maryland, South Carlina, Miami.

(D) Alaski, Arabian gulf, Bahamas

Which among the following is a fully automated hotel ?
(A) Matel | (B) Sanatoria

(C) Rotel (D) Cendominium

In the Hotel, Parlance group signifies :

(A) 10 persons or more (B) 4 persons or more
(C) 15 persons or more (D) 20 persons or more

Which of the following personnel carries out heavy cleaning duties in

hotel ?

(A) - Valet : (B) GRA

(C) Houseman (D) Floor Supervisor

Bar is primarily specialized in selling :

(A) Spirits (B) Regional Dishes

(C) Non-alcoholic beverage (D) Fast food

Two rooms beside each other on the same side of the corridor are known as :
(A) Parlour (B) Adjoining

(C) Connecting (D) Studio
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59.

60.

61.

62.

63.

64.

R Y Frefafen 3 a4 fagesli @ 5 & 3o & § 2
(A) HeE, Tia, [

(B) WWW

(C) Wicts, <faror wmfern, famdt

(D) remeht, sRfegA @rel, Tem™
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(C). e (D) =it
eed § ol UUE I9eT ¥

(A)‘lowﬁw'amaqfaa; (B) 4 =afd a1 sife

(©) 15 = = st

(A) oRFE (B) SH.3R.T.

(C) BREH (D) VR GUEEsR
e R Y

(A) fefeg (B) O fedm
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TR % A WE TR D o G R A W

(A) TR (B) UESig
(C) wfRm (D) wfed
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65. Train 18 is also known as :
(A) Vande Bharat Express (B) Jai Bharat Express
(C) Bharat Mata Express (D) Vande Matram Express

66. Arrange the room service procedure in order and select the correct answer

using the codes given below :
(1) Collecting the order & carrying it to the room
(2) Mise en place activity
(3) Order taking for room service
(4) Execution of room service order
Code : |
@ ® @ @ O
® @ @ @ O
€ & @ @ @
OO @ @ @
67. Keukenhof tulip garden is situated in :
(A) Holland (B) Ireland
(C) Austria (D) Italy
68.  Archaeological Museum and Portrait Gallery was set up in 1964 in :
(A) Puducherry (B) 0Old Goa

(C) Bhubneshwar (D) Jaipur
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65. 3 18 1 39 ®Y H off I V@R
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A) 3 @ 2 (@
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69. Some characteristics of social carrying capacity are given below. Which is/

are not considered characteristic of social carrying capacity ?
(A) to take care of historical monuments
(B) to take care of local arts and crafts
(C) to réspect local customs, traditions, values and beliefs
(D) not to stay for a longer time in a destination
70. Which is/are the aim(s) of the International Air Transport Association ?

(1) - Promote safe, regular, and economic air transport for the benefit of the
people of the world, foster air commerce, and study the problems

connected therewith;

(2) Provide means for collaboration among the air-transport enterprises

engaged directly or indirectly in International air-transport service;

(3) For IATA it is mandatory to call the meeting of all the members after

every five years;

(4) Cooperate with the newly created ICAO, the specialized United Nations

agency for civil aviation and other international organizations.
Select the correct answer from the codes given below :
Code :
(A) (1) and (2) only
B) (1), (2) and (3) only
(C) (1), (2) and (4) only

D) (D), (2), 3), 4)
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D) (1), (2), 3), 4)
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Read the passage given below and answer the questions ( 71-75)
that follow, based on the understanding of the passage :

Food is very personal. We know that.

What we often don’t realize is that food is also more than personal. Fobd
is about culture and most importantly, about biodiversity. Every region has
its own ingredients, culinary methods and traditions. The food is different
in different seasons and different reasons such as birth of a child, wedding,
festivals etc. Food is also one of the key attractions for tourists and visitors.
Food biodiversity needs our care and attention. Today with monocx.xltures
taking over, the only biodiversity that will remain will be stored inside the
controlled environments of laboratories. It will not flourish in the living world
around us. The world that gives us life and the joy of living. Just consider
‘Makhana’ the seed of a member of the water lily family. The plant grows
in the multitude of lakes and ponds of the Indo-Gangetic flood plains, the
country’s largest wetland system. It is commercially cultivated in North
Bihar, Lower Assam and some parts of West Bengal. The food experts believe
that ‘Makhana’ has potential to become a multi-crore enterprise just as a
household snack. Further, the fish such as Black Cat Fish (Singhi, Magur
and Kawai) breed in, ‘Makhana’ ponds and can be an additional income for
the local. Bihar alone accounts for over 270,000 hectares of the ecosystem
in which ‘Makhana’ grows. Unfortunately, these wetlands are fast
disappearing. Some studies say that a hectare of the world’s wetland
disappears every minute. In India more than a half of the wetlands have
been wiped out due to the bad management and lack of legal protection. If
it is not protected the livelihood of locals dependent on ‘Makhana’ and Fishes

will not sustain, Further, one more taste will be forgotten...
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71.  Which of the following dishes can be prepared from Makhana ? Select the

correct answer using the codes given below :
(1) Paratha

(2) Kheer

(3) Raita

(4) Marmalade

Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (2) and (3) only

(D) (2), (3) and (4) only

79.  Given below are two statements; one is labelled as Assertion (A) and the

other as Reason (R) :
Assertion (A) : Food biodiversity needs our care and attention.

Reason (R) : McDonaldization is contradictory to the belief that food should

be different in different seasons and different reasons.

In the context of above two statements choose the correct answer using the

codes given below :

Codes :

(A) Both (A) and (R) are correct but (R) is not a correct explanation of (A)
(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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73. Tourism opportunities can also be explored to invite tourists to see the

cultivation and preparation of dishes from Makhanas. This shall also lead
to helping local communities. This type of tourism shall come into which

category ?
(A) Eco-tourism (B) Culinary Tourism
(C) Adventure Tourism (D) Farm Tourism

74.  Given below are two statements; one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : If wetland of Indo-Gangetic Plain are not protected, the
livelihood of locals dependent on ‘Makhana’ and Fishes will not sustain.

Reason (R) : Sustainable Tourism can only protect wetlands.

In the context of above two statements choose the correct answer using the
Codes given below :

codes :

(A) Both (A) and (R) are correct but (R) is not a correct explanation of (A)
(B) Both (_A) and (R) are correct and (R) is the correct explanation of (A)
(C) (A) is true but (R) is false |

(D) (A) is false but (R) is true

75.  Which of the following dishes are also popular in Bihar apart from
Makhana ? Select the correct answer using the codes given below :

(1) Litti

(2) Chokha

(3) Sattu Paratha
(4) Raabdi

Code :

(A) (1) and (2) only
(B) (2) and (3) only
(C) (1), (2) and (3) only
D) (2), (3) and (4) only
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76. Given below are two statements, one is labelled as Assertion (A) and the other
as Reason (R). Choose the correct answer by using the codes given below

the statements.

Assertion (A) : When purchasing hospitality and tourism services,
consumers rely on word of mouth and on promotional elements such as

advertising and publicity.

Reason (R) : Prior to making a purchase decision, consumers seek
information about the product or service. Search qualities are attributes that

the consumer can investigate prior to making a purchase.

Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true and (R) is the correct explanation of (A)
(D) ﬁoth (A) and (R) are true but (R) is not the correct explanation of (A)

77. The management activities in marketing a hospitality operation can be

divided into three areas that are .............. S T and olivasasse .
(A) Marketing mix, market share, market potential

(B) Marketing planning, marketing mix, market potential

(C) Marketing evaluation, marketing planning, marketing mix

(D) Marketing planning, marketing execution, marketing evaluation
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78.

Match List I (Market coverage strategy) with List II (Description) and choose

the correct answer using the codes given below the lists :

List 1’
(Market Coverage Strategy)

(@) Undifferentiated marketing

(b) Differentiated marketing

(¢) Concentrated marketing

(d) Micro-marketing

Codes :

@ @) ()
A 3 2 1) @
B) (1) 2 3 @)
) 2 1 @ @

D @4 @ @) (2
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(2)

(3)

(4)

List 11
(Description)

Firm targets a large share of one

or few small markets

The firm targets several market
segments and designs separate

products for each market

The firm ignores market
segmentation differences and
offers one product to entire

market

It involves designing products
and marketing programmes for

specific individuals and locations



78. G 1 (IR Fad WAI) & |9 g 1 (faawm) &1 foam #ifse) i g
& A QU MU He, F I FE WE IW g

et 1

(AR Hats TUTHI)
(@) ofswa fauom

(b) Taufea fauom

() wHfga fagom

(d) TIEHI-ATRIT

(a)
A) Q)
(B) (1)
€ @2

D) (4)

(b)
(2)
(2)
(1)

(3)

(c)

(1)

(3)

(3)

(1)

T.B.C. : 18/18/SET—II

(d)
(4)
(4)
(4)

(2)

o

(w1 ]

(1)

(2)

(3)

et 11

(ferarram)
FH UF A HS B 9N & a9 e
(YPR) 1 dAfem w2
wH HE AR WSl h] A HL §
IR ydE aem & o sTem- e
I feamea wwdt ?
wH Fem faureE masel #1 TR
IS A ¥ AR R AR & fa
TF IAE YTH F B
it fafore sxfem ot wF & fon
Sl o faque wrwEt B fesmea
H wfad ¥

P.T.O.



79. Given below are some variables that can be used for market segmentation :

(1) Family size
(2) Income

(3) Attitude

(4) Age

(5) Personality
(6) Population

Which ones amongst the above are psychographic variables. Choose the

correct answer using the codes given below :
(A) (1) and (4) only
(B) (3) and (5) only
(C) (2) and (6) only
(D) (3) and (6) only

80. During the maturity stage of Product Life Cycle (PLC) sales revenues are

................... and the profits are ............... .
(A) Low, negative

(B) Rapidly rising, positive and increasing
(C) Highest, high and starting to decline

(D) Declining, declining

81. The customer participates in the delivery of most hospitality and travel

products. There are three phases to it. These are :
(A) Joining, consumption, detachment

(B) Joining, evaluating, consumption

(C) Consumption, evaluating, detachment

(D) Evaluating, consumption, engagement
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82.

83.

Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : If a hospitality organization is to market its product-service
mix successfully, it is essential that the marketing concept be undertood

thoroughly and fully implemented.

Reason (R) : Marketing concept is a consumer-oriented philosophy that
focuses all available resources on satisfying the needs of the consumer,

thereby resulting in profits.

In the context of above statements, choose the correct answer using the codes

given below :

Codes :

(A) Both (A)Aa‘nd (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Consumers use compensatory, non-compensatory and combination strategies

for e ;

(A) Consumption of products and services

(B) Pre-purchase evaluation of alternative products and services
(C) Promotion of products and services

(D) Post-consumption evaluation of products and services
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84.

85.

86.

Once market segments are selected, a hospitality firm must develop a
positioning strategy for its products and services in each target market. Given
below is a four-step process that can be used in positioning the firm’s products

and services :

(1) Measure the consumer perceptions of available products and services
(2) Determine the ideal mix for consumers

(3) Look for gaps in coverage and select a desired position

(4) Develop strategy for obtaining the desired position

Arrange the above steps in logical sequence using the codes given below :
Codes : | |

@a o 2 & @

B @ 1 2 @

@€ 2 @O B3 @

D @ B 1 @

Many specialized distribution channels are available to hospitality and
travel organizations. In this connection, which one of the following is known
as “OTA” ?

(A) Opaque Travel Agencies (B) Other Travel Agencies
(C) Operational Travel Agencies (D) Online Travel Agencies

The goal of destination branding is to capture the distinct elements of the
destination in the brand and communicating them through its components

guch. 88 s S RERASRE 2710 SRR .
(A) identity, personality, image

(B) identity, perception, motivation

(C) image, personality, perception

(D) personality, perception, identity
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87.  Given below are two statements, one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Advertising and promotion are necessarily a vital part of
the marketing programme of all types of hospitality and tourism operations.

Reason (R) : Advertising and promotion are marketing functions that need
not be managed with other functions.

In the context of above statements, choose the correct answer using the codes
given below :

Codes :

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) Both (A) and (R) are false

(D)  (A) is false but (R) is true
88. Management By Objectives (MBO) process consists of the following six steps :

(1) Set organizational goals

(2) Set ind_i;szidual goals

(3) Set departmental goals

(4) Discuss departmenfal goals

(6) Present the goals

6) Give feedback.

Arrange the above steps in logical sequence as these appear in MBO process
and choose the correct answer using the codes given below :

Codes :

a o & 6 @ @ 6
B O 2 @ @ G 6
e 1 @@ @ @3 G 6
M @2 @& @ @O G 6
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89.

Match items of List I (Decision-making style) with those of List II
(Description) and choose the correct answer using the codes given below the
lists :

List 1 List II
(Decision-making style) (Description)
(@) Directive style | (1) It entails having large tolerance

for ambiguity, requires more
information and many alternatives

(b) Analytical style (2) It is used by decision makers who
are very receptive to others’ ideas
and suggestions

(¢) Conceptual style (3) It entails low tolerance for
ambiguity and being a rational
] , thinker
(d) Behavioural style (4) It relates to decision makers who

90.

TBL.

are creative and look at many
alternatives. They have broad
outlook

Codes :

@ ®. © @

a o @ 6 @

@) @ @ 1O @

©C B @ @ @

M B3 O @ @

Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) : :

Assertion (A) : The matrix organizational structure is one that selects

specialists from different departments to work on a project.

Reason (R) : A matrix organizational structure is not suitable for everyone.

This can be disruptive because the partlclpants take a leave from their

current position and then, once the project is completed, they return to their

original position.

In the context of above statements, choose the correct answer using the codes

given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

18/18/SET—II 64



89.

90.

T 1 (Pl 3 7 4eh) & 7 A g 10 (o) @ ) % e e F
@

gfedl & R e T e w1 I w1 @@ W g o
Tt 1 gt 11
(Frofa &% =t dieh) (feraram)
(@ fwm deft (1) e s o forg ot Wit et
I EYIHA B ©
(b) fovemomers el @) 7% 39 fAuleesl g Sw@m 1 S ®
S gEd % fedl T ggmE @
RN B § |
(c) S def 3) ¥ = & fou w9 Wi @
A ?m'm%ﬁWWé‘eﬁ
(d) =EEies el 4) I8 37 Frofgsl grn SwEm. &t St ®
A wATS B0 ¢ 9+ foaewedl @l

@ ) © @

a @O @ @ @

B @ @ 1 @

©c 3 @ QO @

M B O @ @

¥ @ wo Ry T E, T H AR (A) F FT W T W K R (R) FET
H Ao e ™ T

afirRaT (A) : Ao GoTeE GO 98 € W TR Ueee W wE A F fag
o fawrd @ fadissl &1 =99 & R

@ (R) : & e gres weT ) & fau swgw 7@ 8 % s
2 g ¢ it gRwrt o1 IR deivE @ et o €, ol R, T SR uiEem
AT H R, d I [ TR A AW

IE oA @ wed A A9 Ry T g W I F G I B I FIW
%He :

A) 3 A) ™ ®R) T T AR (R), (A) F T e 2

B) I (A) W R) T& §, WG (R), (A) B T =N T 2

(C) (A) W& ¥, WY (R) T § :

D) (A) T & W (R) & T

T.B.C. : 18/18/SET—II 65 P.TO.



91.

92.

93.

9.

95.

The process by which a leader is able to bring about desired actions from -
others by using certain behaviours, rewards or incentives is known as :

(A) Transactional leadership (B) Transformational leadership
(C) Democratic leadership (D) Laissez faire leadership

According to ‘Expectancy theory’ of motivation proposed by Victor Vroom,
people will make effort according to :

(A) Power (B) Motivation

(C) Fear (D) Rewards

Which one of the following is not a type of control (a management function) ?
(A) Preventive control (B) Feed-forward control

(C) Concurrent control (D) Feedback control

Given below are two statements, one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Organizational Development (OD) is a collection of change
methods that try to improve organizational effectiveness and well being of
employees.

Reason (Ri ¢ OD methods emphasize only on organizational growth.

In the context of above statements, choose the correct answer using the codes
given below : :

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

Which one of the following is not the characteristic of organizational culture
most likely to shape high ethical standards among its employees ?

(A) Low in risk tolerance
(B) Low to moderate in aggressiveness
(C) Focused on means and outcomes

(D) Takes a long-term perspective and balances rights of multiple
stakeholders
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96. Given below are two statements, one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Discounted payback period refers to the period within which
the entire cost of the project is expected to be completely recovered by way
of discounted cash inflows.

Reason (R) : Discounted cash inflow means present value of cash inflows
using cost of capital as discount rate.

Choose the correct answer using the codes given below :
Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true

(D) . Both (A) and (R) are false

97.  According to concept of time-value of money, the money that is receivable

in the future has ..................... .. value than the money that is receivable at
present.
(A) More (B) Less
(C) Same (D) More stable

98. Following are some of the statements in the context of working capital
management :

(1) Gross working capital refers to a firm’s investment in current assets

(2) Result of excessive investment in working capital is high profitability
and low liquidity

(3) As per conservative and matching approaches, all permanent current
assets are financed out of long-term sources of finance

With regard to above statements, choose the correct answer using the
following codes :

Codes :

(A) Only (1) and (2) are true
(B) Only (2) and (3) are true
(C) (1), (2) and (3) are true
(D) Only (1) and (3) are true
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99. Given below are fwo statéments, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Dividend refers to the portion of the profit after tax which
is distributed among the shareholders of the firm.

Reason (R) : Generally, higher dividends increase the market value of the

share and low dividends decrease the market value of the share.

In the context of above statements, choose the correct answer using the codes

given below :

Codes :

(A)
(B)
(C)
D)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Bofh (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) is true but (R) is false |

(A) is false but (R) is true

100. Degree of financial leverage is a measure of Financial Risk. The formula for

calculating is as follows :

(A)

(B)

(©)

D)

Percentage Change in EBT
Percentage Change in EBIT

Percentage Change in EBIT
Percentage Change in Sales

Percentage Change in EPS
Percentage Change in EBIT

Percentage Change in EPS
Percentage Change in EBT

In the above formulae :

EBT means Earnings Before Taxes -

EBIT means Earnings Before Interest and Taxes

EPS means Earnings Per Share.
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